XYZw=95.0443 , 100.0 , 108.89 B Parame-
A=@-a)Y 40 ter: Cpg
B_— b-byY 2

a=ay [xly]

b=by [z 41

=1

b,=-0,4 2 A
n=D65 . , pes A2/
LABCab 85 40 22 40
Name und Farbart

Rysres X=0,64 y=0,33

Gqsros X=030 y=0,60 2 4
Bg'srep ¥=0,18 y=0,06 36

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D65 -40

in Buntwertdiagramm (A, B)

0-000030-L0

TG461-5A 1




XYZw=96.4228 , 100.0 , 82.49 B
A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n = D50

Parame:
40 ter: Cpg

LABCab 85 4025 4
Name und Farbart
Rysree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D50

in Buntwertdiagramm (A, B)

0-000030-L0 TG461-5A 1




XYZw=100.932 , 100.0 , 64.68 B

A=(@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z}
=1

b, =-0,4

n = P40

Parame:
ter: Cpg

LABCab 85
Name und Farbart
Rdsree x=0,64  y=0,33

GgsreB X=0,30 y=0,60 8@

By sree x=0,18 y=0,06
Geréte- & Elementarfarben, Y, =100

dessRGBFarbenraums fiir P40 T-40
in Buntwertdiagramm (A, B)
0-000030-L0 TG461-5A_1




XYZw=109.849 , 100.0 , 35.58 B Parame:
A=@-a)Y 140 ter: Cpg
B=(b-by)Y
a=ay[xly]
b=b, [z 1
=1
b,=-0,4 A
n=A00 35 ,{,81A00
) ' 1 1 &5
LABCab 85 35
Name und Farbart
Ry sree X=0,64 y=0,33 +
Gysree X=0,30 y=0,60
Bg.sree X=0,18 y=0,06 31 @
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fir AOO T-40
in Buntwertdiagramm (A, B)
0-000030-L0 TG461-5A_1




XYZw=100.001 , 100.0, 100.0 B Parame:

A=@-a)Y 140 ter: Cpg

B=(b-by)Y

a=ay [xly] 33

b=h, [zh] 40 Of

a,=1 2

by =-0,4 28

n =E00 : : hEO gz 25 ﬁ
+ + D + »

40

LABCab 85 25

Name und Farbart

Ry sree X=0,64 y=0,33 +

Gysras ¥=0,30 y=0,60 2 33 40

By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100

dessRGBFarbenraums fir EOO T-40

in Buntwertdiagramm (A, B)

0-000030-L0 TG461-5A_1




XYZw=98.0718 , 100.0, 118.22 B Parame:

A=(@-a)Y 140 ter: Cpg

B=(b-by)Y 39

a=ay [xly] 43 O

b=b, [z 25

ay i 1 28

b,=-0,4 A

n=C00 : : @ T s ]
-40 40

LABCab 85 23

Name und Farbart

Ry sree X=0,64 y=0,33 @

Gg,sree *x=0,30 y=0,60 43

Bg,sree X=0,18 y=0,06 39

Gerate- & Elementarfarben, Y,,,=100

dessRGBFarbenraums fiir CO0 T-40

in Buntwertdiagramm (A, B)

0-000030-L0

TG461-5A 1




XYZw=102.067 , 100.0 , 81.06 B Parame
A=(@-a)Y 140 ter: Cpg
B=(b-by)Y

a=a, [xiy]

b=b, [z/)]

=1 38
b,=-0,4

n = P00 .28

LABCab 85

Name und Farbart
Rysree X=0,64 y=0,33 L
Gy,sree X=0,30 y=0,60 26 @
By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir POO T-40
in Buntwertdiagramm (A, B)

0-000030-L0 TG461-5A 1




XYZw=97.9332 , 100.0, 118.95 B Parame:

A=(@-a)Y 140 ter: Cpg

B=(b-b)Y 40

a=ap [xly] 44 O

b=b, [z 2B

=1 28

b, =-0,4 23 A

n=Qo0 : — 30 ¢ >
-40 40

LABCab 85 23

Name und Farbart

Rysree X=0,64 y=0,33 ®

Gg,sree *x=0,30 y=0,60 23

Bg,sree X=0,18 y=0,06 40

Gerate- & Elementarfarben, Y,,,=100

dessRGBFarbenraums fiir Q00 T-40

in Buntwertdiagramm (A, B)

0-000030-L0

TG461-5A 1




XYZw=94.8136 , 100.0 , 107.33 B Parame
A=(@-a)Y 40 ter: Cpg
B=(b-byY

a=ay [xy] 36

b=by [zA 41
=1

by =-0,4 2
n = D65 ,

LABCab 85 0 22

Name und Farbart

Rysree X=0,64 y=0,33

Gyerop X=0,30 y=0,60 2
By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D65

in Buntwertdiagramm (A, B)

36 41

0-001030-LO TG461-5A 1




XYZw=96.7256 , 100.0 , 81.41 B
A=@-a)Y
B=(b-by)Y
a=ay[xly]

b=b, [z

ap=1 37
b, =-0,4

n = D50 ,

Parame:
ter: Cpg

LABCab 85

Name und Farbart
Rysree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
By.srea X=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir D50

in Buntwertdiagramm (A, B)

-40

0-001030-LO TG461-5A 1




XYZw=101.751 , 100.0 , 64.44 B Parame:
A=@-a)Y 140 ter: Cpg
B=(b-by)Y

a=ap [xly]

b=h, [z}

=1

b, =-0,4 36
n = P40

:
128
LABCab 85 4
Name und Farbart
Rysree X=0,64 y=0,33 F
Gysree X=0,30 y=0,60
Baeros X=0,18 y=0,06 8@
Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fir P40 T-40
in Buntwertdiagramm (A, B)

0-001030-LO TG461-5A 1




XYZw=111.15, 100.0, 35.19 B

A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n=A00 35 , 1,,8<

Parame:
a0 ter: Cpg

3R
LABCab 85 36
Name und Farbart
Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60

Bg'sres X=0,18 y=0,06 3@

Gerate- & Elementarfarben, Y,,=100
dessRGBFarbenraums fiir AOO
in Buntwertdiagramm (A, B)

F-40

0-001030-LO

TG461-5A 1




XYZw=99.9908 , 99.9999, 100.0 B

Parame:

A=(@-a)Y 140 ter: Cpg

B=(b-by)Y

a=ay [x/y] 33

b=b, [z/} 40 Q4

=1 2]

b,=-0,4 28

n'= E00 , , oo @\25 A
| ' T ¥ 40

LABCab 85 25

Name und Farbart

Rysree x=0,64 y=0,33 1

Gy sras X=0,30 y=0.60 24 33 40

By sree x=0,18 y=0,06

Gerate- & Elementarfarben, Y,,=100

dessRGBFarbenraums fiir EOO T-40

in Buntwertdiagramm (A, B)

0-001030-LO TG461-5A_1




XYZw=97.2866 ,100.0, 116.14 B Parame
A=(@-a)Y 40 ter: Cpg
B=(b-by)Y 39

a=a, ] 2

b=b, [z/)]
=1
b,=-0,4
n = C00 ,

LABCab 85 0 23

Name und Farbart

Rysree X=0,64 y=0,33

Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,,=100
dessRGBFarbenraums fiir CO0

in Buntwertdiagramm (A, B)

43

0-001030-LO TG461-5A 1




XYZw=102.375 , 100.0 , 81.25

A=@-a)Y
B=(b-by)Y
a=ay[xly]
b=b, [z
=1

b, =-0,4

n = P00

Parame:
ter: Cpg

28 A

LABCab 85
Name und Farbart

Rysree %=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree x=0,18 y=0,06
Gerate- & Elementarfarben, Y,,=100

26 @

dessRGBFarbenraums fiir POO T-40
in Buntwertdiagramm (A, B)
0-001030-L0 TG461-5A_1




XYZw=97.65, 100.0 , 118.42 B Parame-
A=(@-a)Y 40 ter: Cpg
B=(b-b)Y 40

a=ay[xhy] 43
b=b, [z}

a=1

b, =-0,4

n=Qoo . . Q00 7o\

LABCab 85 23

Name und Farbart

Rysree X=0,64 y=0,33

Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06

Gerate- & Elementarfarben, Y,,,=100
dessRGBFarbenraums fiir Q00

in Buntwertdiagramm (A, B)

43

0-001030-LO TG461-5A 1




